M3 ﬁﬁﬁ?ﬁ (I:“Zﬂ%igﬁﬁﬂ:’}"'f 7) /M3 Terminal Block(Screw Holding Type)

M3 iaFa (EAREERSLEY A ) M3 Terminal Block (Screw Holding Type)

EIEEREH  Design Registered

L ltem &  Material | 1+ E / Finish | EwF / Pitch ‘ 7.62m/m | gg;gr/ﬂaﬁng Sgggg\\/[ ;Ijg;SMQ b
py— _ § 7L Insulation Resistance * apbove
G2 PBT ~ror v 0% V0 Black : THERE /Voltage Stress :AC1500V 1min
¥F  Terminal | #&8f Brass AR Ay /Tin Plated c us
BEEE> Fixed pin | ##f ~Brass AX Ay /Tin Plated
EX ./ Screw 8%  Steel Z )V AyF NiPlated
. J

AL—b5 1 7 (lFF=R)

7.62 P % mE Fiyig HIS—
/ P# ./ Model# ./ Dim. /" Cover
- 2 T6886-A-X 16.86 T10577
M 5] T7034-A-X 39.72 T10580
- 6 T6988-X 47.34 T10581
8 T6939-X 62.58 | T10583
1.3 _16.88 9 | T6971-A-X | 7020 | —
6, 1
= nd
i © o~
J-L S
©
T6886-A-X P ” |_|
WO FTYFAN— T 1T
45.8 P % mE Fasiz HIN—
38. 1 / P# ./ Model# ./ Dim. ./ Cover
e e PrAEREzil e 3 T6876-X 38.18 | T10578
4 T6877-X 45.80 | T10579
- I 10 T6883-X 91.52 —
s b s % 12 | T6885-X |106.76 —
WS D0y j 5
; U EREA
J R
T6877-X 4-1. 6% ix10. 8
2

THRRAICEVT, FEMREE -EETILELZ5EPHEVET,



o LLI
M3 Ui ﬁ M3 Terminal Block

M3 ﬁ#ﬁ?ﬁ M3 Terminal Block

@B ftem | ME Material| £ E cFnish | [ EvF - Pien | 7.62m/m | ERE  Rating :AC250V 10A
K51 /Body PBT . PBT V-0 2 V-0 Black %ggﬁ;l\;\srlatiog Resistance 28388(\)/\/5?2]’:?]0 above
F  Terminal | B #[ Brass | AXAvFx /Tin Plated oltage Stress '
EX ./ Screw & Steel | =LAV NiPlated
. J
BEIYAT
P i EisiA
S P# " Model# ./ Dim.
2 T6795-C 16.66
3 T6796-B 24.28
4 T6562-B 31.90
6 T6790-B 4714
7 T6798-C 54.76
- 8 T6526-C 62.38
e
>
T6798-C . RVA%E0.5
imFa (EXEERRLEY 1)
M3.5 imF5 &= /M35 Terminal Block(Screw Holding Type)
ZQUJ_m_}bF(SH)ﬁ -llfl\ /Screw Hold EIEEEREH  Design Registered
EmB Item ME  Material | £ L  Finish E'yF / Pitch | 8.40m/m & _/Rating :AC250V 10A
F74  Body PBT . PBT V-0 2 V-0 Black %ggﬁ;t\srlatiog Resistance 2(?;88(\)/\/1 ?g]ﬂﬂ above
oltage Stress :
#F  Terminal | ¥ 8F ~Brass AZX Ayx /Tin Plated ¢
EX ./ Screw 8% Steel Zw b AyF NiPlated
L J

T7386 T7399 T7377
21.6 % 5.4 Eizs
5.4 P=18.4 5.4 P=8.4 P=8.4
RS R E T < PR R N O e o |y
ik e HERRER] ]

17.9

4
1.9

1

e JEEH . HHEEES

i3 avig

3% /?/‘I:odel# / Dim.
2 T7569 19.20
3 T7386 27.60
4 T7399 36.00
5 T7570 44.40
6 T7377 52.80

3 HERERICHVT, FELCHRTE 4RI E 5B AP HENET,



M35 ﬁﬁﬁ?ﬁ (EZH%“;EBE.U:Q’{ j) /" M3.5 Terminal Block(Screw Holding Type)

19 U :I._I-R_J IIF (SH) ﬁ?ﬁ / Screw Hold EIEZESREH  Design Registered

Mm% Item 8  Material| {£_E / Finish x
KT« /Body PBT /PBT V-0 2 V-0 Black cm us
F  Terminal | B #[ Brass | AXAvFx /Tin Plated

EX sScrew | 8  Steel | ZyA )L Ay /NiPlated
\ J

SANZIIINEAT

T7516-AA T7513-A T7514-A

7-1.8x10.8

22.8

— |

3.4

P 2 i Esig EvF TEIE iR & E

/ P# /" Model# / Dim. /Pitch ./ Rating / Insulation Resistance ./ Voltage Stress
3 T7516-AA 31.4 10 AC/DC 300V 30A | DC500V 1000MQ AC4000V 1min
5 T7513-A 51.4 10 AC/DC 300V 30A | DC500V 1000MQ AC4000V 1min
7 T7514-A 71.4 10 AC/DC 300V 30A | DC500V 1000MQ AC4000V 1min
S T7511 43.7 8.4 AC/DC 300V 15A | DC500V 1000MQ AC4000V 1min

[ =07 0=0=

3.4

4 TERRAEICHEV T, FEECHARER -EEPIEELZFEEIPHENET,



M35 ﬁfufJﬁ E‘(EZHH?@BEJJ:@*( 7) /" M3.5 Terminal Block(Screw Holding Type)

ANV—R51T
T7583 T7568
51.4
26.9 1218
8.4,8.4
L
\
- 3-1.8x10.8
~ 5-1.8x10.8
PH | RE | AW | EvF i BRI THEE
/ P# /" Model# ~/ Dim. | /Pitch

./ Rating ~ Insulation Resistance ./ Voltage Stress

P
3 T7583 | 26.9 8.4 AC/DC 300V 30A | DC500V 1000MQ | AC4000V 1min
5 T7568 | 51.4 10 AC/DC 300V 30A | DC500V 1000MQ | AC4000V 1min

TIRRAEICHEV T, FEECHARER -L£EPIEELDFEAIPHENET,



M4 ﬁﬁﬁ?ﬁ (EZH%%BEUZQ’]/ 7) /M4 Terminal Block (Screw Holding Type)

| LL L~ Safety standard ‘ UL| uL /UL E91451 HEARIEHT  insulation Resistance : DC500V 1000MQ above
[E57 Pien| 10.00m/m | EATISEE  Applicable wire| AWGH 2~22 (B18 B U BAIR) AWG12~22 SingleaStranded | T BBEE  Voltage Stress *AC3000V 1min
NUVITER  Torque Rating | 1.6Nm BB Z . Item #E  Material |+ E / Finish
HN— — R EARZ1T ./ Wiring Type TIGECER R O BISHEDAR ~ Plant wiring&Field wiring R7¢ /Body | PBT /PBT V-0 &2 V-0 Black
J::PES Use UL1059(B.C) ¥ Terminal| i Brass | XX AyF  TinPlated
ZDth / Others IP20 (IEC529) 33 io IR (TBQS ) —ZX D #H) EX Screw |$ Steel Z )L Ay X/ Ni Plated
{ERGI ~ Usage example
DETA - U FAERR /%~ Terminal Connection Method
OFFZARZA41N—=(JIS HFE No.1)IZTxI&#EDHB, /Loosen a screw with a cross slot screw driver
ORE&LIRFAN-TXPEHE LT3, /Lift up the screw from the side face
@FTmFEELAL, /Insert a lug terminal
o @OxTETmDD, /Tighten the screw
= MIVEFE LT BEXTN EBICETEHKET, SETORAEIIE. When the screw is lifted up, it is floated in the block.
B)ATENIEDLWTEHOEEED RIREE R EL =0 Therefore, a troublesome work of removing screw can be eliminated
- H T H—TOTF I Z—IICAIEETT . /Finger-protector shape (TBQ series only IP20)
o ERR. AVELSHE (TBQ 2J—X D& IP20)
. J
TBQ series TEHE Rating : AC250V 20A
P % % E45iA
/ P#  Model# / Dim.
2 T7200-G 21.40
.y 3 T7201-A-X 31.40
1 '0 T 4 T7202-A-X 41.40
. | :
1 [Et@Ey ~ = 6 | T7465 61.40
~ NE o\ “@ . 7
1639 | FAl = IR A
2-1,6xt1
T7200-G
TBUL series TEH& Rating : AC250V 30A
P # i EASi7
/ P# /" Model# ./ Dim.
2
314 S T7273 31.40
20 4 T7274 41.40
5]
|==|ol=lol==l ) 6 T7466 61.40
EER OO P 7 T7472 71.40
o [¢] q - \_/ =Y
e | i | | S 8
[ U U | f
3-2xt1 9
3
10
11
T7273 12

6 IR T, FEAEREE R LA 3B AP HEVET,



LLLI WAN
M4 i<+ M4 Terminal Block
ARV—R5 AT  straight

WL ltem | ME  Material | L+  Finish [£vF Piten] 10.00m/m | ggmrmaﬁng ggggg\\l/ ??)GOMQ X

T ~ § 7L~ Insulation Resistance - above
(i Ao PBT /pat v 0_ = V0 Black WEE /Voltage Stress :AC3000V 1min
#F  /Terminal | #&$[ Brass AR Ayx /Tin Plated e

- A= PR
EX /Screw | §% Steel Zwr IV AyF /Ni Plated uﬁlﬁ lé"\—,,..‘, gl IS

R N CHER 2Ly,
L BIRELEEANCHE S )

A= 1T (RFUE. EV5—)

33.8 P %5 e Eavig HIN—
/ P# ~ Model# / Dim. .~ Cover
2 T7094-A-X 23.80 | T10702
3 T6957-A-X 33.80 | T10622
4 T6958-X 43.80 | T10685
5 T6959-X 53.80 | T10686
6 T6960-A-X 63.80 | T10623
7 73.80 | T10667
<@
Ao :

T6957-A-X

AbL—b& 1T (RFAIE. imfl)

43.8 P # mE baSiz HIN—
/ P# ./ Model# / Dim. ./ Cover
f E 2 23.80 | T10702
3 T7041-X 33.80 | T10622
Rww 4 T7048-X 43.80 | T10685
“1y 7] i B 5 53.80 | T10686
o o 6 T7092-A-X | 63.80 | T10623
1|<—>| 7 T7042-X 73.80 | T10667
o0
oo
Ey ===

T7048-X

M4 :JH—I‘E—Z /M4 Jumper

EifE Jltem | #E  Material | £ _E / Finish
2 3—hE—X / Jumper | B R Brass w4 )L Ay X /Ni Plated
.
i
~ Model#
1o 2og4. 5 T10227
/
P=Y (AN
) | H\J H ]
N ﬁ -
e —
[ — 4
8
T10227
%
~ Model#
2 pes 8 T10666
- N
ST
ﬁ:- . ’/
]
10
T10666

7 THRRAICHEVT, FEMREE -EETILELZSEPHEVET,



M5 ﬁ#ﬁ?ﬁ M5B Terminal Block

M5 iiiFE& M5 Terminal Block

E

:AC DC600V 85A

HEaZ  Item &  Material | 1+ E / Finish | EvF/ Pitch‘ 16.00m/m | mﬁjﬁr/Raling DC500V 1000MQ ab
o= ~ § AL Insulation Resistance above
R AC ) PBT ~PeT v 0_ = VO Black X TEE  voltage Stress :AC2500V 1min
#F  /Terminal | #&$[ Brass AR Ayx /Tin Plated c us
EX ./ Screw 8%  Steel Z IV AyF NiPlated
HIN— /Cover PC PC V-0 #EER V-0 Clear
.
3P
P m%E EAsi HIN—
51.4 S P# " Model# / Dim. ./ Cover
1m0 3 T7519 51.4 | T7519-2
|
47 & A
2N
13
§ U U
T7519 = 3-4.5xt1.2
51.4 P % mE baSiz HIN—
32 / P# /" Model# / Dim. ./ Cover
3 T7562 51.4 T7519-2
S Qi G:3)
WJ U
J 35112
13
e
T7562 11
8 TEREBICHEVT FEERER -£ERILELDFENHENET,




M6 ﬁﬁ'ﬁ?ﬁ M6 Terminal Block

M6 ﬁﬁ?ﬁ M6 Terminal Block

EBEAE  Item &  Material | 1+ E / Finish | EyF Pitch‘ 19.5m/m | gg*&r/ﬂamg ggggg\\; 1888«MQ b
— ) JL .~ Insulation Resistance - above
Lo By PBT ~Per V-0 % /V-0Black : WE‘EE /Voltage Stress :AC2500V 1min
#F Terminal | #] Copper | AZXAwF /Tin Plated c “s
EX  “screw |# Steel ZfYAX—b= 4 IL XY ZnNi Plated
. J
3P
P # mE EiNiA
61 / P# /" Model# / Dim.
8 3 T7558 61
=] =] =

30

5 W) U
17558 6-4.5x 2 ‘

ap
s P % SE 4L
EY / P# / Model# ./ Dim.
19.5 4 T7559 80.5
1 o T = =
1 [P e
1 ™ i s ih |
17.2 2.3
. = =
U U U
T7559 - $a.5xt2
2P
P % mE EAsiA HIN—
/ P# /" Model# ./ Dim. ./ Cover
2 T7598 50 T7598-5
21.2 EyF /Pitch 24
2 o T8 /Rating 650V 200A
o
2 == o Y /Insulation Reslilétance DC500V 100MQ
<~ 7

T7598

9 THRRAICHEVT, FEMREE -EETILELZ5EPHEVET,



